

١ ناتج ضرب: $٥ أ (- ٤ أ + ٢ أ - ٧)$ هو

- (أ) $١٢٠ + ٣١٠ - ١٣٥ أ$ (ب) $٩٠ + ٣٧ - ١١٢ أ$ (ج) $١٢٠ + ٣١٠ - ٣٥ أ$ (د) $١٢٠ + ٣١٠ - ١١٠ أ$

٢ ناتج ضرب: $٣ (٥ س + ٢ س - ٤) - (٧ س + ٢ س - ٣)$

يساوي $٧ س + ١٣ س + ٩ س - ١٢$

- (أ) صح (ب) خطأ

٣ ناتج ضرب: $٥ ن (- ٣ ن + ٢ ن - ٤)$ يساوي

- (أ) $١٥ ن - ١٠ ن - ٢٠ ن$ (ب) $١٥ ن + ١٠ ن - ٢٠ ن$ (ج) $١٥ ن + ١٠ ن - ٢٠ ن$ (د) $١٥ ن + ١٠ ن - ٢٠ ن$

٤ ناتج ضرب: $٣ (٣ س + ٤) + ٢ (٧ س - ٣)$

يساوي $٣ س + ١٨ س - ٦$

- (أ) صح (ب) خطأ

٥ حل المعادلة: $٦ - (١١ - ٢ ج) = ٧ (- ٢ - ٢ ج)$

هو

- (أ) $٥٢ = ج$ (ب) $٢٦ = ج$ (ج) $١٤ = ج$ (د) $٢ = ج$